March 5, 2019

Starter:

Find the missing value in each proportion.
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8.2 Proportions

Objective:
- | can identify corresponding sides.
- | can solve proportions.
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Proportion: an equation that equates two ratios
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10(12) = 20(6)
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Solve each proportion.
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Solve each proportion.
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Solve each proportion.
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The triangles are similar. Write a
proportion and then find the missing side

length. UwW~FW
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Write a proportion and then find the
missing side length.
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Write a proportion and then find the value

of x.

ARST ~ ARLM
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Write a proportion and then find the value
of Xx.

ANML ~ ANCD
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